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QUESTION 1

A Data Picker

A. contains pre-defined and company-defined Data Definitions

B. represents fields that define the structure of WBS codes

C. facilitates selection of records or instancesfrom filtered lists

D. represents codes that are used with cost-related Business Processes

Correct Answer: C

QUESTION 2

When updating Groups from a Shell template,

A. changes are seen instantly

B. Grouppermissions are updated

C. new members of the Group are added

D. nothing happens if the Group does not already exist

Correct Answer: B

QUESTION 3

Identify one benefit of using Folder Structure templates.

A. to manage or controlproject documents

B. to assign permissions to documents

C. to store project documents or deliverables

D. consistent document management protocols across projects

Correct Answer: A

QUESTION 4
When is a Shell created while using a Shell Creator Business Process (BP)?
A. when the record reaches any terminal status defined in uDesigner under Options

B. when the record reaches any status defined in uDesigner under Options
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C. automatically when the record reaches any terminal status
D. whenever a BP Creator record is approved

Correct Answer: C

QUESTION 5

Which two statements are true about Base Currency? (Choose two.)
A. It is the default currency used on a Shell.

B. It is the currency used as the standard currency for a Company.
C. Itis the currency used on a particular transaction within a Shell.
D. Itis the currency used in the Company Cost Sheet.

Correct Answer:. AB

QUESTION 6

The Data Definition category that is associates with a specific Business Process, Shell type, or codes and records-
based manager is

A. Basic

B. User Defined
C. Cost Codes
D. Data Pickers

Correct Answer: D

QUESTION 7

Identify two permission levels in Unifier (Choose two.)
A. Shell

B. Administration

C. User

D. Company

E. Partner

Correct Answer: AD
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QUESTION 8

You have completed and tested designs in the staging environment. Your project team feels that the design is ready to
be brought into the production environment.

Identify the first step in this process.

A. Create the Design Bundle in staging Environment.
B. Export the design to a local directory.

C. Delete staging data in production environment.

D. Delete user data in staging environment.

Correct Answer: B

QUESTION 9

A warning as a result of an error check on a Business Process
A. prevents that setup from becoming active

B. allows that setup to be active

C. prevents that setup from being saved

D. sends an email notification to the defined users or Groups

Correct Answer: A

QUESTION 10

When can an assignee decline a task if an option is enabled for a step?

A. if there are multiple assignees on the step and the others have all already declined

B. if the assignee is the only assignee on the step and has the ability to add assignees on the step
C. if the assignee is the only assignee on the step andhas the ability to add CC

D. if there are multiple assignees on the step who are yet to accept/decline the task

Correct Answer: D

QUESTION 11

View theExhibit.
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Identify two ways that you can move the selected element to the Formula section. (Choose two.)

A. Copy and Paste from Excel.
B. Type in the Formula section.
C. Drag and drop Element.

D. Click Add Parameter.

E. Double-click Element.

Correct Answer: BD

QUESTION 12

Non-assigneesusers who can edit a specific step in a Business Process when it is in draft mode are called
A. administrators

B. assignees

C. record editors

D. step editors

Correct Answer: D

QUESTION 13
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You are making changes to users in Groups in a shell. You use the Import User Groups Assignments File functionality
to complete this task. You identify two errors during this update process for two users.

What are two reasons for the errors? (Choose two.)

A. The user and Company combination is not valid.

B. The Group name on the import file is not a valid Group in the Shell.
C. Permissions are not valid for the Shell.

D. Partner Companies do not exist within the Shell.

E. Scheduled import conflicts with scheduled export process.

Correct Answer: BC

QUESTION 14

You are importing a Business Process setup into a Shell template. You receive an error message. Identify two reasons
that might have led to thistransaction failure (Choose two.)

A. The security settings in the Company Workspace prohibit import/copy functions.
B. You cannot import the Business Process into a Shell.

C. The Business Process setup that you are importing is not active.

D. The Shells are not of the same type.

Correct Answer: AD

QUESTION 15

View the Exhibit.
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Which two statements about the date formula built on the Vendor Active Date field are true?
A. It derives a numeric valueas the result.

B. It is an example of Date Difference.

C. Itis an example of date Add.

D. It derives another date as the result.

E. It derives a number as the result.

Correct Answer: A
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